BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNEEFS) SH3FE12H1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1,931 4,102 16 19 13 19 13 19 22 16 16 18 27 15
ENY = 2TH 769 1,646 2 6 4 6 3 6 6 9 12 5 7 5
H/IMNE 3TH 1,416 | 2,745 11 5 11 5 11 4 9 7 16 9 11 10
EVINY = 4TH 1,790 | 3,524 9 10 20 7 8 17 13 13 13 13 9 18
HINE 5TH 2,098 | 3,741 8 11 16 14 12 14 12 15 17 11 13 12
H/IMNE 6TH 1,807 | 3,247 5 3 11 10 13 16 10 10 12 6 9 10
mINE 1TH 3,129 | 5292 18 15 24 14 22 8 14 15 14 19 15 17
mINE 2TH 1,290 | 2,156 8 10 3 5 11 8 5 3 6 6 8 10
m/IhNE 3TH 2,881 5,212 12 13 24 16 10 18 19 18 21 11 10 10
mINE 4TH 1,793 | 3,241 9 6 12 9 4 5 11 11 9 8 6 12
/NG 5TH 2,147 | 3,789 15 16 12 9 12 14 15 14 8 9 16 13
m/INE 1TH 1,010 | 2,143 11 6 5 8 8 10 6 3 9 5 7 6
mE/NhNE 2TH 1,716 | 3,432 4 2 7 5 7 8 8 6 7 8 9 5
mE/NhNE 3TH 1,754 | 3,370 9 8 14 3 20 7 16 13 18 14 13 8
mE/NhNE 4TH 1613 | 3,226 7 10 8 8 13 3 5 9 13 6 15 14
m/NhNE 5TH 2,018 | 3,794 12 12 12 12 19 16 17 7 13 15 12 11
mE/NhNE 6TH 2,396 | 3,951 8 5 9 13 10 7 16 10 4 10 13 7
mE/NhNE 7TH 3253 | 5494 19 17 9 15 20 7 15 18 13 18 24 19
m/NhNE 8TH 2,096 | 3574 19 14 19 14 14 10 21 12 13 9 10 11
d/hE 1TH 1,298 | 2270 4 5 9 3 8 5 7 9 4 3 14 9
d/hE 2TH 2,883 | 5,286 18 5 12 21 16 21 11 19 32 21 16 13
d/hE 3TH 1,360 | 2,529 9 6 15 4 9 11 12 7 9 8 13 12
d/hE 4TH 2,289 | 4488 15 16 19 16 28 24 15 20 22 22 15 21
d/hE 5TH 1,744 | 3,023 10 10 4 6 14 9 10 9 1 15 8 6
d/hE 6TH 2,487 | 4583 13 13 16 6 12 16 17 11 20 18 23 16
d/hE 7TH 1,483 | 3,238 16 14 17 13 19 9 18 14 17 17 16 18
dt/ha 8TH 1679 | 3,702 13 13 5 14 14 18 17 15 15 8 13 21
&8 52,130 | 96,798 300 270 330 275 350 310 347 313 354 312 352 329
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM3FE12818
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 14 22 14 21 21 21 18 21 18 15 21 22 19 15 23 20 21 24 23 14
HING 2TH 10 4 5 8 9 5 8 8 1 3 5 9 7 10 8 7 9 9 9 5
ENY= 3TH 7 11 9 14 14 8 12 12 9 12 7 8 23 10 9 12 17 14 8 12
EXINY = 4TH 22 12 18 20 11 19 17 18 13 19 9 12 12 16 14 17 10 9 8 10
EXINY = 5TH 14 10 14 15 13 12 17 7 14 7 11 12 12 10 8 9 5 14 7 9
ENY= 6TH 16 7 6 10 11 16 6 16 12 7 15 11 15 9 9 16 10 13 12 12
NG 1TH 18 18 15 14 17 16 17 17 18 15 19 17 22 15 28 13 20 12 22 12
NG 2TH 3 5 6 7 10 4 10 1 6 4 8 8 4 14 8 4 7 5 3 4
m/INE 3TH 22 14 14 10 13 21 13 12 17 17 13 21 25 23 15 22 20 24 18 15
NG 4TH 8 8 8 7 4 15 14 15 11 9 7 6 4 15 11 9 16 14 5 7
NG 5TH 11 4 16 14 6 6 12 8 13 12 19 5 12 14 17 19 20 18 14 19
mE/INE 1TH 9 7 8 7 7 8 10 10 10 8 15 5 11 9 8 11 9 12 8 13
mE/NhNE 2TH 15 17 10 6 14 9 4 13 17 9 14 11 8 15 15 20 12 13 18 16
m/NhNE 3TH 12 11 12 12 12 12 23 13 17 24 12 10 15 14 18 10 22 5 15 13
mE/hNE ATH 8 12 16 14 10 19 18 16 12 13 17 15 13 22 13 19 14 10 12 13
mE/NhNE 5TH 24 10 12 12 11 13 15 13 9 16 14 8 18 9 10 13 8 14 19 16
mE/hNE 6TH 13 8 8 13 10 12 10 8 10 11 15 9 4 10 12 6 3 13 9 7
m/hNE 7TH 20 21 14 16 16 18 13 15 16 16 13 10 17 14 17 6 9 14 13 15
m/hNE 8TH 12 15 18 10 8 8 12 11 7 7 6 7 10 6 7 8 11 1 11 7
d/hE 1TH 8 7 10 8 8 8 6 6 10 5 11 14 8 6 9 9 11 6 6 8
d/hE 2TH 25 17 20 22 33 11 16 11 16 17 25 17 15 17 22 27 23 16 18 19
d/hE 3TH 6 5 9 9 14 4 5 8 8 6 9 13 10 5 8 10 5 7 13 7
d/hE ATH 20 19 21 12 22 16 21 14 22 13 15 20 18 14 27 22 21 11 20 15
d/hE 5TH 9 11 9 9 10 6 13 10 12 10 7 13 4 7 13 11 4 8 13 13
d/hE 6TH 21 15 12 15 15 19 13 14 20 21 15 13 21 13 14 14 18 15 24 6
d/hE 7TH 8 20 14 15 21 16 16 12 14 11 15 12 11 6 16 19 11 25 12 18
dt/ha 8TH 17 18 19 16 23 18 19 19 16 20 14 28 16 20 14 20 12 26 20 27
=X 372 328 337 336 363 340 358 328 348 327 351 336 354 338 373 373 348 352 360 332 \
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM3FE12818
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 19 25 20 17 17 28 23 23 26 18 26 20 20 22 22 23 27 22 25 26
ENY= 2TH 8 10 5 11 9 8 10 7 11 12 12 10 8 12 11 18 5 6 10 7
ENY= 3TH 7 10 8 16 15 12 12 7 11 15 22 16 17 8 16 18 22 22 20 22
HING 4TH 19 10 14 8 21 14 11 14 13 24 19 24 14 21 31 27 17 26 18 18
EXINY = 5TH 10 16 11 17 11 16 11 12 12 21 17 22 23 21 25 24 35 35 25 36
ENY= 6TH 8 6 12 10 19 14 16 12 15 14 22 26 19 30 23 22 24 14 29 25
NG 1TH 18 12 16 23 11 13 16 20 23 28 25 30 25 27 45 36 38 36 47 41
NG 2TH 7 9 3 2 12 6 7 6 4 5 12 11 8 17 20 23 14 18 19 10
m/INE 3TH 15 17 16 18 24 22 19 17 14 28 44 31 27 26 32 35 42 33 47 43
NG 4TH 17 14 9 14 11 11 18 10 16 17 21 17 21 18 30 19 28 25 27 29
NG 5TH 13 21 17 21 21 17 15 18 28 18 18 23 27 12 34 25 32 27 35 24
m/INE 1TH 14 11 6 11 10 14 12 14 11 18 10 10 15 11 15 10 13 11 10 16
mE/NhNE 2TH 19 15 17 22 13 19 20 15 22 24 15 18 22 21 20 17 18 30 22 13
m/NhNE 3TH 14 15 19 14 10 11 17 13 17 8 16 11 19 18 23 19 30 18 29 26
mE/hNE ATH 17 13 15 11 18 12 13 16 20 12 22 10 23 11 10 19 25 14 20 18
mE/NhNE 5TH 14 10 15 16 13 12 13 24 26 13 22 22 19 18 30 24 32 23 27 27
mE/hNE 6TH 6 4 11 12 7 13 12 16 14 15 19 22 19 24 28 22 31 46 34 29
m/hNE 7TH 16 14 14 13 18 20 18 16 21 24 31 38 35 35 35 40 45 42 37 50
m/hNE 8TH 5 10 6 14 8 13 12 8 10 17 23 16 32 32 31 25 27 33 39 27
d/hE 1TH 3 12 1 5 6 13 8 10 10 8 10 15 13 5 17 13 12 23 16 14
d/hE 2TH 21 16 22 22 18 30 22 19 25 26 19 34 32 39 38 27 40 34 37 27
d/hE 3TH 5 7 10 10 9 10 14 9 13 13 23 17 13 23 18 27 25 27 26 22
d/hE ATH 15 20 23 19 20 22 22 18 19 18 26 11 24 24 35 24 26 37 39 20
d/hE 5TH 11 6 10 10 10 10 12 14 10 12 14 13 10 12 20 26 29 28 31 31
d/hE 6TH 16 16 9 23 10 9 20 24 23 21 20 19 37 29 31 38 42 32 31 31
d/hE 7TH 16 19 17 19 13 12 14 15 25 18 20 16 19 15 20 20 12 20 19 25
dt/ha 8TH 20 25 21 11 31 15 31 19 26 14 16 23 10 23 16 16 23 19 17 22
&5 353 363 347 389 385 396 418 396 465 461 544 525 551 554 676 637 714 701 736 679 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM3FE12818
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 20 26 23 22 21 23 33 24 20 24 28 30 21 22 22 24 31 26 23 22
ENY= 2TH 10 3 9 10 11 12 8 2 7 9 5 10 6 7 7 8 9 5 11 10
RING 3TH 22 17 13 20 22 14 9 10 19 19 12 14 19 18 23 12 16 14 11 18
HING 4TH 19 22 20 21 23 32 15 24 27 21 9 19 30 22 28 17 19 22 22 34
EXINY = 5TH 34 30 29 18 27 28 35 36 26 29 25 25 30 30 24 23 30 26 21 29
ENY= 6TH 27 29 21 21 24 14 33 20 20 24 19 27 26 13 18 15 17 21 26 18
NG 1TH 44 30 42 55 52 46 39 42 43 45 39 28 51 28 35 34 32 30 47 40
NG 2TH 23 22 20 18 19 15 19 12 22 21 17 13 24 11 24 19 18 11 16 14
m/IhNE 3TH 34 45 35 42 45 44 41 31 37 33 34 38 37 28 33 38 38 37 33 43
NG 4TH 26 20 27 22 30 25 29 19 27 25 26 13 24 26 24 16 25 16 23 21
m/IhNE 5TH 28 31 28 26 35 20 32 21 31 33 25 25 23 32 33 29 30 28 39 31
m/INE 1TH 11 8 13 15 8 14 14 8 13 8 14 11 8 10 10 6 12 8 8 10
mE/NhNE 2TH 18 14 13 16 15 15 22 17 12 14 13 15 14 12 20 11 16 16 19 16
m/NhNE 3TH 25 29 23 16 21 20 18 14 20 23 20 14 24 14 17 21 14 10 17 21
mE/hNE ATH 15 16 22 17 14 16 13 17 22 18 17 12 18 11 15 23 20 18 13 15
mE/NhNE 5TH 29 14 33 19 32 18 23 23 20 16 16 17 27 27 27 27 25 21 29 22
mE/hNE 6TH 30 33 46 37 29 27 28 36 41 26 32 32 35 29 28 24 38 25 34 31
m/hNE 7TH 47 37 58 45 37 34 38 39 47 44 42 37 42 42 43 42 40 29 24 29
m/hNE 8TH 28 29 45 32 35 25 23 35 41 33 31 17 27 25 22 26 32 18 29 25
d/hE 1TH 14 13 20 23 15 22 17 15 23 14 15 18 14 16 24 12 17 19 19 14
d/hE 2TH 45 40 41 40 39 31 36 29 26 38 23 30 41 35 30 35 25 32 25 25
d/hE 3TH 21 20 19 17 25 25 25 15 23 19 12 16 14 21 19 11 15 23 23 9
d/hE ATH 40 27 34 32 32 31 25 22 30 25 40 29 30 23 34 20 28 36 32 25
d/hE 5TH 24 20 33 18 28 20 26 24 15 16 21 20 22 24 25 17 24 20 20 16
d/hE 6TH 27 30 33 40 25 20 33 23 25 36 36 39 35 26 29 29 36 35 21 39
d/hE 7TH 19 27 18 18 28 22 24 21 15 15 20 22 13 18 27 18 21 25 25 17
dt/ha 8TH 19 21 10 16 20 21 21 15 19 18 23 11 18 21 28 19 13 12 14 16
&5 699 653 728 676 712 634 679 594 671 646 614 582 673 591 669 576 641 583 624 610 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE12818
R 3675% 3755 3855 397% 4075 Mg 42 431 A47% 451%
g8 z g8 z g8 z £ = L T g8 z g8 z g8 T L T L @

BN 1TH 45 17 27 21 27 27 20 28 30 24 23 19 31 37 21 29 36 32 34 27
E¥IY = 2TH 10 7 12 9 5 9 9 8 10 6 6 4 7 11 18 6 10 12 18 12
ill\z"z.i 3TH 17 24 22 13 19 17 19 12 13 13 14 14 13 21 19 23 22 21 23 21
ilj\z”:i. 4TH 21 22 27 25 35 30 31 29 25 26 21 17 25 26 30 19 14 20 27 27
ill\z”:i. 5TH 26 28 31 25 33 22 25 31 22 22 36 19 31 19 28 22 28 27 34 29
ill\z”:i. 6TH 19 21 27 13 15 17 26 18 30 18 20 15 22 21 21 17 19 25 33 27
gAY = 1TH 44 45 45 40 40 41 41 39 37 33 43 28 30 38 42 37 44 46 45 48
gAY = 2TH 15 13 16 14 15 19 12 14 17 15 20 17 18 11 23 15 11 20 20 13
gAY = 3TH 34 36 47 39 37 33 27 36 35 37 38 31 31 30 37 31 34 26 43 41
gAY = 4TH 16 13 25 20 22 21 14 14 24 11 16 31 29 21 26 19 16 16 28 24
mhE 5TH 29 24 23 18 25 20 17 24 32 26 20 26 19 23 25 27 24 21 27 31
ﬁlj\z”:i. 1TH 12 15 14 25 15 8 11 9 16 10 10 9 16 11 14 11 16 17 16 11
B S = 2TH 22 17 21 14 15 13 15 9 15 13 21 12 20 18 22 22 19 22 17 20
m/hE 3TH 24 23 20 11 20 31 27 25 22 22 15 29 23 29 30 16 23 19 30 30
m/hE 4TH 21 15 19 21 14 9 23 24 20 18 26 17 17 18 25 26 23 31 25 18
B S = 5TH 28 29 24 34 22 23 21 26 21 24 32 16 26 24 21 24 24 22 38 19
m/hNE 6TH 36 21 26 21 19 21 28 23 24 21 23 23 29 16 24 18 25 26 37 18
m/hE 7TH 37 39 46 32 47 38 49 29 35 37 49 27 32 37 46 32 38 38 49 36
m/hE 8TH 28 27 35 15 27 33 29 29 26 18 24 22 29 29 29 25 27 19 29 36
t/hg 1TH 13 11 20 14 16 18 12 15 14 14 22 21 23 12 13 23 23 13 18 10
:II:/]\7”;.i 2TH 42 36 36 31 37 40 36 37 28 22 39 31 37 31 34 42 48 29 42 38
:II:/]\7”;.i 3TH 18 17 10 25 21 13 18 15 14 10 21 15 9 14 16 17 25 18 18 13
:II:/]\7”;.i 4TH 42 32 27 26 28 28 34 33 32 18 30 23 37 25 27 32 31 31 28 29
:II:/]\7”;.i 5TH 25 9 19 18 25 24 11 12 15 19 18 19 22 12 20 15 32 29 30 21
:II:/]\7”;.i 6TH 27 38 32 28 29 37 36 24 35 31 37 24 34 33 30 28 32 29 33 32
:II:/]\7”;.i 7TH 20 22 15 15 23 21 27 12 26 16 18 21 25 24 28 19 28 22 16 23
d/ha 8TH 19 22 24 20 21 26 16 23 22 23 24 32 31 33 30 21 23 32 27 28
85 690 | 623 | 690| 587 652| 639] 634] 598 640 547| 666| 562| 666| 624 699 616| 695| 663| 785| 682

5/12 R—




BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) SM3FE12818
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

QY= 1TH 30 29 47 45 35 32 37 24 43 35 36 31 29 33 36 23 39 30 19 18
ENY= 2TH 23 16 10 15 19 17 21 18 13 17 11 17 11 9 21 18 14 10 16 7
QY= 3TH 21 21 21 21 22 28 34 18 31 22 24 24 28 19 16 17 29 23 15 11
Y= 4TH 19 22 21 27 23 22 29 18 35 30 23 24 21 20 28 26 20 26 16 20
HINE 5TH 32 29 24 24 33 26 21 21 29 19 32 27 25 26 29 23 21 29 27 19
HINE 6TH 22 20 25 27 32 28 19 21 28 22 23 17 27 18 32 39 19 24 21 21
mINg 1TH 40 47 45 44 59 44 39 43 47 54 46 37 54 41 39 44 31 33 27 31
LN = 2TH 16 17 19 11 26 21 19 23 27 13 22 15 19 22 13 8 17 17 15 12
m/hE 3TH 36 43 31 37 39 39 60 48 35 35 57 37 36 38 39 39 39 39 34 44
mIhNg 4TH 27 20 17 29 29 20 28 29 27 25 24 35 29 31 29 23 31 29 30 22
m/hE 5TH 33 24 41 34 28 28 37 39 32 34 25 40 43 25 40 39 32 23 25 28
m/hNE 1TH 18 18 14 17 26 20 20 16 22 25 29 23 27 15 33 25 19 21 20 11
B S 2TH 26 24 39 33 42 41 25 37 34 36 34 26 29 31 25 23 31 28 25 20
B S 3TH 20 23 23 27 29 29 30 25 30 32 31 18 27 24 27 36 32 27 23 23
B 4TH 32 30 25 32 33 25 36 23 30 23 32 27 25 13 34 20 20 35 20 14
B S 5TH 23 14 20 22 39 23 33 40 27 27 28 36 33 33 39 30 32 30 29 17
B 6TH 23 26 31 22 22 37 27 20 30 27 29 27 30 30 28 29 35 28 32 22
B S 7TH 53 26 49 33 53 39 49 58 50 54 55 41 41 43 50 42 46 40 28 37
B 8TH 35 28 31 22 34 34 33 33 34 26 25 28 23 24 35 34 25 17 8 20
d/hE 1TH 16 12 19 18 21 16 21 20 22 18 13 16 19 23 15 22 18 19 19 14
d/hE 2TH 33 37 43 39 49 47 43 43 45 56 45 32 35 37 48 28 54 53 21 38
d/hE 3TH 19 14 20 13 19 15 19 13 30 18 17 18 23 18 14 16 17 22 12 15
d/hE 4TH 41 32 47 24 36 35 47 30 38 42 53 22 37 32 33 47 24 29 24 35
d/hE 5TH 29 21 22 20 22 24 25 20 25 22 30 16 19 18 19 13 17 28 18 13
d/hE 6TH 35 36 38 23 38 28 38 32 49 38 44 40 54 31 45 29 30 39 20 21
d/hE 7TH 20 16 23 26 39 31 26 24 33 30 28 21 26 19 18 15 18 26 29 15
dt/ha 8TH 31 24 33 30 29 46 36 30 40 30 36 32 36 34 28 23 28 29 23 21
&5 753 669 778 715 876 795 852 766 886 810 852 727 806 707 813 731 738 754 596 569
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEFH/RD) FH3E12A18
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

QY= 1TH 26 22 23 27 31 32 25 19 32 14 27 23 18 24 22 20 23 21 17 8
HING 2TH 11 10 11 18 12 6 12 7 12 3 13 10 7 6 9 11 6 12 12 10
ENY= 3TH 31 20 23 14 25 19 21 16 14 18 10 14 16 16 17 14 13 8 14 13
Y= 4TH 31 27 25 21 25 16 23 23 18 19 19 14 19 12 19 19 18 18 20 14
HINE 5TH 21 26 27 26 22 29 17 31 32 27 31 35 20 15 14 20 27 12 26 15
HINE 6TH 22 32 23 19 26 20 17 17 21 19 14 16 20 18 18 20 18 21 17 16
mINg 1TH 35 30 46 48 38 33 35 29 25 42 29 24 25 22 28 21 30 16 29 22
LN = 2TH 14 12 17 13 18 14 10 10 11 10 12 13 10 12 10 6 6 6 11 15
NG 3TH 55 36 29 29 47 40 28 34 26 26 23 23 17 30 41 37 25 27 34 23
mIhNg 4TH 27 20 25 22 25 16 28 18 16 17 17 18 20 17 16 21 17 16 24 17
NG 5TH 28 41 30 29 25 25 27 20 22 18 23 28 26 18 23 11 24 19 21 13
m/hE 1TH 14 22 18 17 18 20 10 8 11 11 14 14 9 7 11 8 11 6 7 7
mE/NhNE 2TH 32 30 26 25 23 23 24 21 20 17 27 22 14 21 17 11 15 9 21 8
m/NhNE 3TH 36 20 28 19 17 20 35 21 26 23 17 20 15 14 29 16 15 13 17 16
mE/hNE 4TH 26 25 23 24 24 24 26 18 25 14 14 13 15 22 18 17 22 17 20 14
mE/NhNE 5TH 30 25 28 25 24 40 25 27 32 26 34 25 26 22 19 29 18 18 23 22
mE/hNE 6TH 35 23 24 21 27 33 23 25 26 24 22 27 34 17 27 22 21 22 17 24
m/hNE 7TH 37 34 53 38 41 27 33 27 40 32 31 31 33 24 29 36 27 20 33 26
m/hNE 8TH 25 26 26 16 24 16 20 21 22 23 28 19 23 25 16 21 14 19 16 16
d/hE 1TH 17 6 15 10 14 20 10 15 14 9 12 16 7 16 10 14 18 13 18 15
d/hE 2TH 45 40 49 56 32 35 39 31 31 32 39 37 26 22 32 34 21 19 23 33
d/hE 3TH 23 17 14 10 26 13 20 16 12 16 10 13 10 8 13 12 12 12 10 14
d/hE 4TH 32 32 23 35 38 28 29 25 21 25 26 25 29 18 20 18 24 19 27 15
d/hE 5TH 22 23 17 20 23 21 24 16 7 23 17 21 25 12 18 22 12 14 16 23
d/hE 6TH 40 20 21 26 31 25 27 26 36 31 23 17 30 23 26 32 37 14 20 32
d/hE 7TH 19 21 18 12 18 14 17 20 17 15 21 19 21 24 15 14 11 11 25 7
dt/ha 8TH 29 25 24 22 31 21 36 26 17 17 21 24 16 20 24 14 23 12 20 20
&5 763 665 686 642 705 630 641 567 586 551 574 561 531 485 541 520 508 414 538 458 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEFH/RD) SHI3E12A1H
R 667% 677% 687% 697% 705% % 125% 13% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g
HINE 1TH 22 21 16 24 17 17 22 22 20 25 23 23 29 28 27 20 20 24 12 25
ENY= 2TH 7 5 18 11 7 4 8 7 8 7 8 7 13 11 12 17 14 14 3 6
ENY= 3TH 10 8 19 12 16 8 15 6 12 13 17 19 16 26 20 20 15 13 11 16
XN = 4TH 15 18 19 23 14 17 19 18 16 17 25 12 28 27 32 27 25 21 12 22
HINE 5TH 16 20 18 21 18 13 20 21 17 21 18 34 33 26 32 31 25 28 13 17
HINE 6TH 20 15 20 17 10 25 23 12 26 16 17 27 18 20 21 32 26 28 9 25
NG 1TH 27 33 21 22 26 26 30 29 33 34 20 36 28 38 42 24 32 34 23 28
NG 2TH 13 16 13 11 11 7 19 12 18 10 9 10 15 13 16 17 13 14 13 16
NG 3TH 28 26 30 27 35 27 26 25 42 30 43 27 37 40 32 42 22 34 13 29
NG 4TH 21 10 23 19 17 18 15 20 14 17 14 24 18 27 25 25 23 23 13 16
NG 5TH 17 22 18 21 15 19 17 15 23 21 26 15 28 22 25 24 18 26 15 17
mE/INE 1TH 16 12 7 11 10 10 16 6 10 13 13 11 12 13 16 10 8 10 7 8
mE/NhNE 2TH 11 12 13 17 18 25 12 19 27 20 21 25 25 31 27 35 28 38 22 24
m/NhNE 3TH 22 10 18 20 19 12 11 24 20 11 16 21 13 16 22 23 29 17 12 16
mE/hNE ATH 14 18 15 15 18 22 20 22 14 14 15 18 23 20 25 30 14 28 14 14
mE/NhNE 5TH 23 10 24 21 23 16 30 22 14 18 26 21 23 19 31 20 28 21 17 17
mE/hNE 6TH 26 20 26 24 26 15 22 33 21 24 30 34 42 26 35 28 25 39 16 21
m/hNE 7TH 20 16 15 29 22 33 25 29 34 25 34 38 36 49 36 48 37 41 25 29
m/hNE 8TH 20 15 26 17 23 12 15 18 24 20 17 17 19 21 23 15 19 27 12 21
d/hE 1TH 7 12 15 15 18 15 13 12 14 14 12 21 13 14 13 28 17 14 10 9
d/hE 2TH 33 35 23 28 30 28 19 42 43 30 37 46 50 40 40 26 35 44 21 22
d/hE 3TH 12 17 16 9 14 10 11 15 13 22 15 13 29 22 21 16 14 15 13 11
d/hE ATH 28 25 21 26 26 15 17 23 23 28 25 17 26 31 35 26 26 37 14 20
d/hE 5TH 17 24 11 15 23 12 17 18 18 17 18 22 23 17 27 25 26 35 19 17
d/hE 6TH 28 18 35 22 19 25 25 32 28 23 36 24 38 33 40 29 34 35 21 24
d/hE 7TH 15 23 19 14 12 16 15 23 15 11 13 21 27 11 25 23 18 24 12 14
dt/ha 8TH 19 21 24 14 19 15 17 16 16 21 23 18 18 29 33 23 16 22 14 21
&5 507 482 523 505 506 462 499 541 563 522 571 601 680 670 733 684 607 706 386 505
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEEFS) SM3FE12818
R 767% 175% 787%% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 12 18 11 20 23 22 16 22 18 26 16 21 18 18 12 17 12 16 12 16
ENY= 2TH 8 10 10 11 4 9 10 11 8 11 6 6 2 9 5 6 4 7 3 3
ENY= 3TH 16 12 21 16 15 13 11 16 13 17 9 8 10 12 10 15 4 7 5 9
HING 4TH 17 14 16 26 12 18 23 19 15 26 9 20 14 13 9 20 14 19 11 15
EXINY = 5TH 11 10 15 24 18 22 13 21 17 16 19 16 8 14 8 12 10 15 13 19
ENY= 6TH 14 15 14 15 11 16 20 17 15 16 11 17 7 10 10 9 7 23 9 17
NG 1TH 16 22 29 29 18 24 14 30 12 35 20 31 17 21 9 10 6 9 13 38
NG 2TH 5 11 7 10 6 7 9 20 8 5 8 7 6 6 1 11 2 6 3 10
m/INE 3TH 33 23 21 26 14 26 15 19 22 25 12 28 12 21 14 30 16 26 8 13
NG 4TH 17 18 12 17 19 19 10 19 14 23 10 11 8 15 7 13 6 16 4 10
NG 5TH 10 13 17 14 15 17 12 19 9 15 11 13 8 12 7 11 11 12 5 14
mE/INE 1TH 7 11 8 17 8 9 9 16 12 12 5 7 7 13 15 15 9 14 8 4
mE/NhNE 2TH 14 22 18 19 16 33 17 32 13 30 18 32 15 21 16 28 17 26 8 34
m/NhNE 3TH 14 20 12 22 18 17 15 23 17 22 15 17 9 19 11 10 6 17 11 15
mE/hNE ATH 16 13 13 20 17 23 22 22 21 20 9 27 12 14 11 19 12 13 5 20
mE/NhNE 5TH 19 19 21 17 22 22 9 30 15 21 11 17 11 18 8 16 8 23 11 16
mE/hNE 6TH 21 29 30 38 23 21 14 13 18 21 8 29 13 17 9 19 12 15 11 20
m/hNE 7TH 22 28 30 30 34 45 27 27 22 38 13 26 19 32 15 26 20 29 19 25
m/hNE 8TH 14 20 16 20 14 19 16 24 16 4 14 11 7 18 6 19 3 8 7 7
d/hE 1TH 9 12 6 10 9 17 10 14 6 13 6 10 3 3 2 3 3 11 4 8
d/hE 2TH 22 28 24 29 19 21 18 29 15 26 12 32 10 23 13 21 14 20 11 21
d/hE 3TH 4 7 16 13 8 11 18 19 5 16 6 12 9 15 6 11 6 14 8 8
d/hE ATH 27 15 12 28 18 28 20 34 20 23 11 28 7 15 14 20 15 19 17 10
d/hE 5TH 16 9 14 11 17 20 12 14 14 18 14 16 9 12 3 13 4 15 12 17
d/hE 6TH 19 29 21 27 18 21 22 23 18 30 15 26 20 17 9 17 14 22 9 15
d/hE 7TH 11 11 12 22 9 13 18 14 16 18 12 11 9 19 12 16 6 16 4 15
dt/ha 8TH 14 13 17 20 10 22 16 18 20 20 18 20 16 23 12 10 11 16 10 22
&5 408 452 443 551 415 535 416 565 399 547 318 499 286 430 254 417 252 434 241 421 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) SM3FE12818
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

ENY= 1TH 9 14 10 19 5 6 5 9 3 6 1 10 1 5 2 6 1 3 2 1
ENY= 2TH 2 8 3 5 1 2 0 4 3 6 1 6 3 9 5 3 1 1 1 1
ENY= 3TH 7 16 6 11 4 7 3 7 8 6 4 7 0 9 3 3 0 4 4 4
EXINY = 4TH 8 25 11 11 5 10 7 23 3 13 2 9 5 12 4 7 1 4 0 1
EXINY = 5TH 3 26 5 12 7 9 4 13 7 8 2 8 2 4 1 7 3 6 1 4
ENY= 6TH 7 16 6 8 9 12 2 14 7 8 2 5 1 6 4 5 1 6 0 3
NG 1TH 14 18 7 14 8 21 4 12 5 11 5 6 2 8 3 8 0 6 0 8
NG 2TH 5 6 2 5 8 4 2 3 1 4 1 6 0 4 0 7 1 2 0 2
m/INE 3TH 16 24 17 16 5 16 6 13 9 14 4 14 8 16 2 11 4 4 7 4
NG 4TH 9 14 6 19 6 14 4 9 5 8 3 5 0 5 1 3 1 3 2 2
NG 5TH 3 11 3 10 2 7 1 11 5 11 3 5 2 8 1 5 1 2 3 1
mE/INE 1TH 4 16 5 5 3 4 3 7 2 5 1 2 1 1 0 2 0 3 1 1
mE/NhNE 2TH 14 24 18 11 7 16 5 10 8 9 5 7 2 9 1 10 1 4 2 0
m/NhNE 3TH 7 15 8 7 4 13 1 8 3 10 8 5 4 5 2 10 1 4 1 9
mE/hNE ATH 11 20 4 15 12 8 4 16 6 7 1 12 1 5 1 1 0 4 0 1
mE/NhNE 5TH 6 18 6 13 4 13 4 12 5 13 4 5 4 10 2 10 2 9 2 2
mE/hNE 6TH 21 13 9 17 10 13 5 16 4 17 1 7 2 11 1 11 2 3 1 7
m/hNE 7TH 17 22 11 20 11 16 8 15 5 9 4 13 1 5 3 2 1 4 1 6
m/hNE 8TH 7 11 2 16 4 11 6 7 1 7 9 5 0 4 0 5 1 3 0 2
d/hE 1TH 3 11 5 3 3 5 3 7 2 5 2 2 1 1 0 3 1 3 2 1
d/hE 2TH 13 22 8 20 7 14 5 9 8 10 8 17 1 10 3 9 1 2 1 1
d/hE 3TH 7 10 6 6 3 5 4 6 3 4 1 3 0 2 3 2 1 2 1 5
d/hE ATH 15 15 8 13 7 13 7 12 5 8 4 4 4 12 0 5 1 5 0 6
d/hE 5TH 4 13 6 1 3 7 5 7 4 11 2 9 1 4 0 10 2 5 1 7
d/hE 6TH 7 13 7 14 12 12 7 16 4 9 3 9 5 5 2 5 2 4 0 4
d/hE 7TH 5 13 6 11 10 14 5 12 3 5 4 13 3 5 0 6 1 5 0 2
dt/ha 8TH 9 13 4 13 6 9 1 11 5 10 2 7 3 7 2 4 0 1 0 1
&5 233 427 189 325 166 281 111 289 124 234 87 201 57 182 46 160 31 102 33 86
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HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2054 | 2048
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 824 822
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,411 1,334
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1699 1,825
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,837 1,904
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1613 1,634
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2635| 2657
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,109 | 1,047
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2563 2,649
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1627 1614
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,921 1,868
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,084 | 1,059
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1654 | 1,778
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,732 | 1,638
mE/hNE ATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0/ 1610 1,616
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1932| 1,862
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1976 | 1,975
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2765 | 2729
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,826 | 1,748
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,112 | 1,158
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2603 | 2683
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,293 | 1,236
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2316| 2172
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1505| 1518
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2340 | 27243
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1612| 1,626
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,816 | 1,886
&5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 48,469 | 48,329
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